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The point is on the terminal side of an angle in standard position. Find the exact values of the six trigonometric functions of
the angle.
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Locate the terminal side of the angle.

Drop a perpendicular to the x-axis.
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Find the exact values of the remaining trigonometric functions of 6 satisfying the given conditions. (If an answer is
undefined, enter UNDEFINED.)
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Find the exact values of the remaining trigonometric functions of @ satisfying the given conditions. (If an answer is
undefined, enter UNDEFINED.)

cot # is undefined, % <g <3
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Section 1.5 - Graphs of trig functions
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Write an equation for a function with the given characteristics.
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A sine curve with a period of 4x, an amplitude of 2, a left phase shift of /3, and a vertical translation down 3 units.
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